< 00, > (M)

<opyp, > ()

<o @> (rad)
o
=
a1

o
[N

o
N

........................................

LI ALL. S SRR
S | R :
E | AP EETITY EPETITH B AP

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

|
o
[y
IIIIIIIIIIIIIIIIIIII

9
o
[SS]

&

B

0.950
107

1

2 3
TPlpoT (PCA t%obeamlinélf)

—s=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO

—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet__RECO

100r

A o ©
o O O
[TTT]

20F

OHF-- 'F“"‘"i"""'“"‘""i‘""""'“ _., -

..............................

-

1

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

—~

RatioI

100p

0.954
10

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


